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Show that for a one-dimensional case, the work-kinetic energy theorem is equivalent 1o newton's second law
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Apply the conservation Laws of momentum and total kinetic energy for elastic collisions in one dimension to relate Student Book | 196
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(1) Apply the equation (WeF-dr=Fdrcosa) to calculate the wark done on an object by & con t force by taking the dot
product of the force vector F and the displacement vector Ar
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(1) Calcudate graphically the work done on an object from an initial to 2 final position using a force versas position graph.
17 | (2) Solve problems related to work done by a general variable force
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